29)x=7,7,7 30) x=7, 26, 26 31) 96, 84 32) 101,79 33) 67,113

34)x = 4 35)x =16,y = 116 36)x=1
40) x = 10, LM=16, TU=24, QP=32 41) x=3, BC=27, TU=19.5, KH=12 N
4) rhombus, x=2, y=10 5) rectangle, x=4,y=8 6) isos. Trap., x=3 7) kite,x=7,y =30

~ lessons 6-4 and 6-5

For each parallelogram, determine the most precise name and find the measures of the numbered

—

angles.

1. ; g
N hmﬂ)»_s e, Lf_s ‘ﬁ/ Y]
2 £0,90,40,40 ¢ m{,{} fwn A
" sa°
o

2 27° ;
1 TRl ™~ I\

g = 20,37 6%, b3 a0° 1
f’[‘:’}- Cv‘ /})}) _33 1 )’ HUsz"TO‘@
b 1 r h et S 7
I idomg L
7. Use the information in the figure. 8. ZJABCD is a rhombus. What is
Explain how you know that ABCD the relationship between /1 and /27
is a rectangle. Explain.
i ol
A B . 25 F B £ iyJMw
P (i;xm') Py
o)
D G m:}‘"’
acls A D

16. If OT=2a+b and ER = 80, and GY=3a-b, find a, b, & GY.

2 (22 +0) = $0

Jda+o¥ 3¢-b=160 Yp i o = 80

56 <10 _ I
=53 ) g+ =0

17. Quadrilateral EFGH is a rectangle. Find the value of x.
JF=8x—5,BG=24—x

Q(x,\»;) = - X
ox-10 =24-x et iy

x= 34 @




Whatis it? Pick the most specific name as possible.

[

(L]

rowdsu S

Find the values of x and y that ensure the quadrilateral is a parallelo gram.

~ *1-12 Answer with Sometimes, Always or Never.

K 5 Ae= el

X*bog-1bzp

(\( i-a)ﬂ,{x _3'> =il

1. A trapezoid is i\l a parallelogram.

2. Both pairs of opposite angles of a thombus are i congruent,

3. Diagonals of a trapezoid are ‘\l perpendicular,

4. Consecutive angles of a thombus are : supplementary and

congruent.
5. Consecutive angles of a trapezoid are 5 congruent. Why?
~

6. AB= BC b (Use parallelogram ABCD for #6-9.)

s FCLED > c
8. AABC= ACDA A \\

N ’

9. £ BAD & £ ABC are complementary

10. Find the best name for parallelogram ABCD using the given information:

a. M is the midpoint of AC & DB HC . ol
_—__ il J

b. AC L DB AN




Given: ABCD is a kite with AB =BC,AD = CD \\

Prove:BD hisects AC )
S & " ‘ﬁ

f4)

WE (S e \0464,(,“ deag L
PSS = . = A .
5| 8) Riblocie

p Dédn . rigrnd B

&y HL
9 ecTC
: 8) Db boisect

% Given: AB0D R ite with AB = BC,AD = CD
Prove: BD bisects <ABC O\p
&
B 7‘(;64 = “ €
) oK g B s | DG
3 DABRD = ACBD | 3848 ~
D 4‘!\‘5—{4\"%{'«;46@ | 9) EPLT &
b . . fh. bgect .
§) B bs. <ABC §) Sk e
5. Given: WXYZ is a parailelogram [ 1 =0 2
Prove: WXEZ is an isosceles trapezoid S ?\
—-—-—-_-—“"-—-—__.
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